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ÍÛæ̃ Û¶ÛÛ : ›÷¾Û¨Ûà ¼ÛÛ›ä÷…é þùÉÛÛÙÈÛéÅÛ …×ïõ ¸ÛóÊ¶Û¶ÛÛ •Ûä̈ Û þùÉÛÛÙÈÛé ™öé.  

 

1. (a) ¶ÛÛ¨ÛÛïõàýÛ ¼Û›ÛÁõ¶Ûä× ¾ÛÛÇ”Ûä× ¤æ×øïõ¾ÛÛ× ÈÛ¨ÛÙÈÛÛé. 7 

     …¬ÛÈÛÛ  

   ¶ÛÛ¨ÛÛ ¼Û›ÛÁõ¶ÛÛ ÅÛ“Û¨ÛÛé ÍÛ¾Û›ÛÈÛÛé.  
 

 (b) ïõÛé̂ ¸Û¨Û ¼Ûé¶ÛÛ ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : 4 

   (i) ›Ûé”Û¾Û …¶Ûé …Ü¶ÛÜÊ˜Û©Û©ÛÛ …é¤øÅÛé ÉÛä× ?  

   (ii) ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ …¶Ûé ½ÛÜÈÛÌýÛ¶ÛÛ ¾ÛæÅýÛ ÈÛ˜˜Ûé ÉÛÛé ©ÛºõÛÈÛ©Û ™öé ? 

   (iii) ÈÛÇ©ÛÁõ ¸ÛÁõ ˜Û’õÈÛèÜ±ù¶Ûà ÍÛ×̃ ÛýÛà …ÍÛÁõ ÉÛä× ¬ÛÛýÛ ™öé ? 

 

 (c) ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛé …éïõ ïéõ ¼Ûé ÈÛÛîýÛÛé¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : 3 

   (i) 72¶ÛÛé Ü¶ÛýÛ¾Û ÉÛä× ™öé ? 

   (ii) ›Ûé”Û¾Û …¶Ûé ÈÛÇ©ÛÁõ ÈÛ˜˜Ûé ÉÛÛé ÍÛ×¼Û×µÛ ™öé ? 

   (iii) ¶ÛÛ¨ÛÛïõàýÛ ÈýÛÈÛÐüÛÁõ ÍÛÛ¬Ûé ÍÛ×ïõÇÛýÛéÅÛ …Ûé™öÛ¾ÛÛ× …Ûé™öÛ ™ö ›Ûé”Û¾ÛÛé ›÷̈ ÛÛÈÛÛé.  
 

 

2. (a) ÈýÛÛ›÷ þùÁõÛé¶ÛÛ ÍÛÛ¾ÛÜýÛïõ ¾ÛÛÇ”ÛÛ¶Ûà ¼Û›ÛÁõ ÜÈÛ½ÛÛ›÷¶Û ¬ÛàýÛÁõà, …¸Ûé“ÛÛ¶Ûà ¸ÛÜÁõïõÅ¸Û¶ÛÛ …¶Ûé 
©ÛÁõÅÛ©ÛÛ ¸ÛóàÜ¾ÛýÛ¾Û ¬ÛàýÛÁõà ÍÛ¾Û›ÛÈÛÛé. 7 

…¬ÛÈÛÛ  

  Œ¸Û› ÈÛ’õ …é¤øÅÛé ÉÛä× ? …éïõ ¼ÛÛé¶¦ø ¸ÛÁõ ¸ÛÛïõ©Ûà ÈÛ”Û©Ûé Œ¸Û›÷ ïéõÈÛà Áõà©Ûé •Û¨ÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 

 

 (b) ïõÛé̂ ¸Û¨Û ¼Ûé¶ÛÛ ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : 4 

  (i) ÜÍ¬ÛÁõ ÈýÛÛ›÷¶ÛÛ þùÁõÛé …¶Ûé ¸ÛÜÁõÈÛ©ÛÙ¶ÛÉÛàÅÛ ÈýÛÛ›÷¶ÛÛ þùÁõÛé ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û Í¸ÛÌ¤ø ïõÁõÛé.  
  (ii) IS-LM ¾ÛÛé¦éøÅÛ¾ÛÛ× ¶ÛÛ¨ÛÛïõàýÛ “ÛéªÛ¾ÛÛ× ÜÍ¬ÛÜ©Û Í¬ÛÛ¸Ûïõ©ÛÛ ïéõÈÛà Áõà©Ûé Í¬ÛÛ¸ÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 

  (iii) ÅÛÛé¶Ûé¼ÛÅÛ º×õ¦ø ¬ÛàýÛÁõà¾ÛÛ× ÈýÛÛ›÷¶ÛÛ þùÁõÛé ïéõÈÛà Áõà©Ûé ¶Û‘õà ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 
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 (c) ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛé …éïõ ïéõ ¼Ûé ÈÛÛîýÛÛé¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : 3 

  (i) ÍÛ×̃ ÛÛÜÅÛ©Û ÈýÛÛ› ÷þùÁõ ÉÛä× ™öé ? 

  (ii) ¼Ûé¡ö Áéõ¤ø ïõÁõ©ÛÛ× 36 ¼ÛéÍÛà¡ö ¸ÛÛé̂ ¶¤ø ÈÛµÛÛÁéõ ÈýÛÛ›÷¶ÛÛ þùÁéõ …éïõ ¼Ûé¶ïõ ÅÛÛé¶Û …Û¸Ûé ™öé. ›Ûé 
¼Ûé¡ö Áéõ¤ø 8%, 10% …¶Ûé 13% ÐüÛéýÛ ©ÛÛé ¼Ûé¶ïõ ïéõ¤øÅÛÛ ÈýÛÛ›÷¶ÛÛ þùÁõÛé ÈÛÍÛæÅÛ ïõÁõÉÛé ? 

  (iii) ¼Ûà¦ø …¶Ûé ¸ÛóÍ©ÛÛÈÛ þùÁõ (offer rate) …é¤øÅÛé ÉÛä× ? 

 

3. (a) …éïõ Ýïõ¾Û©Û¶ÛÛé Ü¶ÛýÛ¾Û ÍÛ¾Û›ÛÈÛÛé. 7 

   …¬ÛÈÛÛ  

  ¸ÛóÜ©ÛïæõÇ ¸ÛÍÛ×þù•Ûà …¶Ûé ¶ÛíéÜ©Ûïõ ÍÛ×ïõ¤ø¶Ûà ÍÛ¾ÛÍýÛÛ…Ûé ïéõÈÛà Áõà©Ûé Œ½Ûà ¬ÛÛýÛ ™öé ©Ûé ÍÛ¾Û›ÛÈÛÛé.  
 

 (b) ïõÛé̂ ¸Û¨Û ¼Ûé¶ÛÛ ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : 4 

  (i) ïõÛýÛÙ“Û¾Û ¼Û›ÛÁõ ¸ÛÜÁõïõÅ¸Û¶ÛÛ¶Ûä× ¾Û›÷¼Ûæ©Û ÍÈÛÄõ¸Û ïõýÛä× ™öé ? 

  (ii) ¶ÛÛ¨ÛÛïõàýÛ …ÛÜ¼ÛÙ¤Öéø›÷ …é¤øÅÛé ÉÛä× ? 

  (iii) ¾Ûæ¦øà Ü¾ÛÅÛïõ©Û Ýïõ¾Û©Û ¾ÛÛé¦éøÅÛ¶Ûà ¼Û›ÛÁõ Áéõ”ÛÛ ÍÛ¾Û›ÛÈÛÛé.  
 

 (c) ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛé …éïõ ïéõ ¼Ûé ÈÛÛîýÛÛé¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : 3 

  (i) ¾ÛæÅýÛ¶ÛÛ ÜÐüÍÛÛ¼Ûà ¾ÛÛ¸Û …é¤øÅÛé ÉÛä× ? 

  (ii) ÅÛé¾Û¶Û ÍÛ¾ÛÍýÛÛ ›÷¨ÛÛÈÛÛé.  
  (iii) ÜªÛïõÛé̈ ÛÛïõÛÁõ …ÛÜ¼ÛÙ¤Öéø›÷ …é¤øÅÛé ÉÛä× ?  

 

4. (a) ºõÛéÁõÈÛ¦Ùø ïõÁõÛÁõ¶ÛÛ ½ÛÛÈÛ Ü¶ÛµÛÛÙÁõ¨Û …¶Ûé ©Ûé¶ÛÛ ÅÛ“Û¨ÛÛé ÍÛ¾Û›ÛÈÛÛé. 7 

    …¬ÛÈÛÛ  

  ¹ýÛä̃ ÛÁõ ïõÁõÛÁõ ÈÛ¨ÛÙÈÛÛé.  
 

 (b) ïõÛé̂ ¸Û¨Û ¼Ûé¶ÛÛ ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : 4 

  (i) …Ûȩ́ ÉÛ¶Û ïõÁõÛÁõ¶ÛÛ …ÛýÛäÌýÛ þùÁõ¾ýÛÛ¶Û ©Ûé¶ÛÛ ”ÛÁõàþù¶ÛÛÁõ ¾ÛÛ¤éø …Ûȩ́ ÉÛ¶Û ïõÁõÛÁõ¶Ûà ›ä÷þùà-›ä÷þùà 
ÜÍ¬ÛÜ©Û…Ûé ÈÛ¨ÛÙÈÛÛé.  

  (ii) Ýïõ¾Û©Û ÉÛÛéµÛ …é¤øÅÛé ÉÛä× ? 

  (iii) šýÛÛÁéõ ¾Ûä”ýÛ ›Û¾Ûà¶Û•ÛàÁõà Ü¦øÜÈÛ¦ø¶¦ø ˜ÛæïõÈÛ©ÛÛé ÉÛéÁõ ÐüÛéýÛ ©ýÛÛÁéõ …Ûȩ́ ÉÛ¶Û ïõÁõÛÁõ¶Ûà Ýïõ¾Û©Û 
¾ÛÛ¤éø ¼Ûé ÍÛ¾ÛýÛ¶ÛÛ ¼ÛÛýÛ¶ÛÛé¾Ûà…ÅÛ ¤Öøà¶Ûà …ÛïèõÜ©Û þùÛéÁõÛé.  

 

 (c) ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ …éïõ ïéõ ¼Ûé ÈÛÛîýÛÛé¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : 3 

  (i) Í¤ÖøÛˆïõ ¾ÛæÅýÛ …é¤øÅÛé ÉÛä× ? 

  (ii) ¹ýÛä̃ ÛÍÛÙ¶ÛÛ ¾ÛæÅýÛÛ×ïõ¶Û ¾ÛÛ¤éø ïõÛéÍ¤ø …Ûñºõ ïéõÁõà ÜÍÛ±ùÛ×©Û¾ÛÛ× ïõˆ ¸Û¦ø©ÛÁõ µýÛÛ¶Û¾ÛÛ× ÅÛéÈÛÛ¾ÛÛ× …ÛÈÛé 
™öé ? 

  (iii) ÈÛÛéÁ×õ¤ø …é¤øÅÛé ÉÛä× ? 
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5. ºõî©Û ÍÛÛ˜ÛÛé ÜÈÛïõÅ¸Û þùÉÛÛÙÈÛÛé :  14 

 (i) ›Ûé …éïõ ¼ÛÛé¶¦ø¶ÛÛé ¸ÛÛïõÈÛÛ¶ÛÛé ÍÛ¾ÛýÛ ÍÛÛ©Û ÈÛÌÛÙ ÐüÛéýÛ ©ÛÛé ________ 

  (a) ©Ûé ÅÛÛ×¼ÛÛ•ÛÛÇÛ¶Ûä× ÍÛÛµÛ¶Û ™öé.  (b) ©Ûé ¤æ×øïõÛ•ÛÛÇÛ¶Ûä× ÍÛÛµÛ¶Û ™öé. 
  (c) ©Ûé ”Ûæ¼Û ›÷ ÅÛÛ×¼ÛÛ•ÛÛÇÛ¶Ûä× ÍÛÛµÛ¶Û ™öé. (d) ©Ûé ¾ÛµýÛ¾Û ÍÛ¾ÛýÛ¶Ûä× ÍÛÛµÛ¶Û ™öé.  
 

 (ii) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× ÍÛÛµÛ¶Û ¶ÛÛ¨ÛÛ ¼Û›ÛÁõ¾ÛÛ× ÈÛ¸ÛÁõÛ©Ûä× ¶Û¬Ûà ?  
  (a) ÍÛ¤øâÜºõïéõ¤ø …Ûñºõ Ü¦ø̧ ÛÛé¡öà¤ø (b) ¼ÛÛé¶¦ø 
  (c) ¤Öéø¡öÁõà Ü¼ÛÅÛ   (d) ÈÛÛÜ¨ÛšýÛ¸ÛªÛ 
 

 (iii) ï×õ¸Û¶Ûà-A¶ÛÛ ˆÜîÈÛ¤øà ÉÛéÁõ 80% •ÛéÁ×õ¤øà ÍÛÛ¬Ûé 10% ÈÛÇ©ÛÁõ …Û¸Ûé ™öé …¶Ûé ï×õ¸Û¶Ûà-B¶ÛÛ 
ˆÜîÈÛ¤øà ÉÛéÁõ 50% •ÛéÁ×õ¤øà ÍÛÛ¬Ûé 20% ÈÛÇ©ÛÁõ …Û¸Ûé ™öé. ÍÛÅÛÛ¾Û©Ûà¶Ûà ´ùÜÌ¤ø…é ________ 
ï×õ¸Û¶Ûà¶ÛÛ ÉÛéÁõ¾ÛÛ× ÁõÛéïõÛ¨Û ïõÁõÈÛä× ›Ûé̂ …é.  

  (a) ï×õ¸Û¶Ûà-B 

  (b) ï×õ¸Û¶Ûà-A 

  (c) ï×õ¸Û¶Ûà-A …¬ÛÈÛÛ ï×õ¸Û¶Ûà-B ¼Ûé¾ÛÛ×¬Ûà ïõÛé̂  ¶ÛÜÐü   
  (d) Š¸ÛÁõ¶ÛÛ¾ÛÛ×¬Ûà ïõÛé̂  ¶ÛÜÐü  
 

 (iv) ¶ÛÛ¨ÛÛïõàýÛ ÈýÛÈÛÐüÛÁõÛé¾ÛÛ× ›Ûé”Û¾Û ¾Û¸ÛÛýÛ ™öé.  
  (a) ÍÛ¾ÛýÛ¾ÛÛ×  (b) Í¬ÛÇ¾ÛÛ×  
  (c) ÍÛÛµÛ¶Û¾ÛÛ×   (d) …Û ¼ÛµÛÛ ›÷  
 

 (v) …éïõ ¼Ûé¶ïõ …éïõ ÈÛÌÛÙ¶Ûà Ü¦ø¸ÛÛé¡öà¤ø ¸ÛÁõ 3%, ªÛ¨Û ÈÛÌÛÙ¶Ûà Ü¦ø¸ÛÛé¡öà¤ø ¸ÛÁõ 5% …¶Ûé 10 ÈÛÌÛÙ¶Ûà 
Ü¦ø¸ÛÛé¡öà¤ø ¸ÛÁõ 4% ÈýÛÛ›÷ …Û¸Ûé ™öé. ÈýÛÛ›÷¶ÛÛ þùÁõ¶Ûä× ÍÛ¾ÛýÛ ¾ÛÛÇ”Ûä× Áéõ”ÛÛ _______ ÐüÉÛé.  

  (a) x …“Û¶Ûé ÍÛ¾ÛÛ×©ÛÁõ  (b) y …“Û¶Ûé ÍÛ¾ÛÛ×©ÛÁõ  
  (c) ÍÛ¾ÛýÛÛ×©ÛÁéõ ÈÛµÛ©Ûà  (d) ÈÛµÛ©Ûà …¶Ûé ÍÛ¾ÛýÛÛ×©ÛÁéõ –Û¤ø©Ûà  
 

 (vi) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× ÍÛÛµÛ¶Û ›Ûé”Û¾Û¾Ûäî©Û ÈýÛÛ›÷¶ÛÛ þùÁõÛé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛæÁõà ¸ÛÛ¦éø ™öé ? 

  (a) Ü¦ø¼Ûé¶˜ÛÁõÛé  (b) ¼ÛÛ×µÛà ¾Ûäþù©Û¶Ûà ¬ÛÛ¸Û¨Û 
  (c) ¤Öéø¡öÁõà Ü¼ÛÅÍÛ   (d) ÍÛ¤øâÜºõïéõ¤ø …Ûñºõ Ü¦ø̧ ÛÛé¡öà¤ø 
 

 (vii) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ÈýÛÛ›÷¶ÛÛ þùÁõÛé¶Ûä× ÍÛ¾ÛýÛ ¾ÛÛÇ”Ûä× ïõÛé̈ Û ÍÛ¾Û›ÛÈÛé ™öé ? 

  (a) ©ÛÁõÅÛ©ÛÛ ¸ÛÍÛ×þù•Ûà ¬ÛàýÛÁõà  (b) …¸Ûé“ÛÛ…Ûé¶Ûà ¬ÛàýÛÁõà  
  (c) ïõÛéÍ¤ø …Ûñºõ ïéõÁõà ¬ÛàýÛÁõà  (d) ¸ÛÁ×õ¸ÛÁõÛ•Û©Û ¬ÛàýÛÁõà  
 

 (viii) ›Ûé …¬ÛÙ©Û×ªÛ¾ÛÛ× ÈýÛÛ›÷¶ÛÛé þùÁõ 10% ÐüÛéýÛ …¶Ûé ÈÛÛÍ©ÛÜÈÛïõ ÈýÛÛ›÷¶ÛÛé þùÁõ 4% ÐüÛéýÛ, ©ÛÛé 
¶ÛÛéÜ¾Û¶ÛÅÛ ÈýÛÛ›÷¶ÛÛé þùÁõ ÐüÛéÈÛÛé ›Ûé̂ …é  

  (a) 6%  (b) 14% 

  (c) 7%  (d) 10% 
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 (ix) ›Ûé USD 1 = ` 56 …¶Ûé GBP 1 = USD 2.5 ÐüÛéýÛ ©ÛÛé ÜªÛïõÛé̈ ÛÛïõÛÁõ …ÛÜ¼ÛÙ¤Öéø›÷¶Ûé ïõÛÁõ¨Ûé  
  (a) GBP 1 = ` 100 (b) GBP 1 = ` 156 

  (c) GBP 1 = ` 140 (d) GBP 1 = ` 180 

 

 (x) …éïõ ¦øà¸Û Ü¦øÍïõÛŠ¶¤ø ¼ÛÛé¶¦ø¶Ûà ¾ÛæÇÝïõ¾Û©Û ` 1000 ™öé. ©Ûé ¸ÛóÛ¬ÛÜ¾Ûïõ ¼Û›ÛÁõ¾ÛÛ× _______½ÛÛÈÛé 
ÈÛé̃ Ûà ÉÛïõÛýÛ.  

  (a) ` 900  (b) ` 1000 

  (c) ` 1100  (d) ` 1001 

 

 (xi) …éïõ ÍÛÛéþùÛé ïõÁõ¶ÛÛÁõ …Ûȩ́ ÉÛ¶Û¶ÛÛ ¼Û›ÛÁõ¾ÛÛ× ¸Ûä¤ø …Ûȩ́ ÉÛ¶Û ”ÛÁõàþéù ™öé. ›Ûé ©Ûé …Ûȩ́ ÉÛ¶Û¶ÛÛé …¾ÛÅÛ 
ïõÁéõ ©ÛÛé ©Ûé ________ 

  (a) ¾Ûä”ýÛ ›Û¾Ûà¶Û•ÛàÁõà ”ÛÁõàþùÉÛé.  
  (b) ¾Ûä”ýÛ ›Û¾Ûà¶Û•ÛàÁõà ÈÛé̃ ÛÉÛé.  
  (c) ¾Ûä”ýÛ ›Û¾Ûà¶Û•ÛàÁõà¾ÛÛ× ïõÛé̂  ÍÛÛéþùÛé ¶ÛÜÐü ïõÁéõ.  
  (d) …Ûȩ́ ÉÛ¶Û ¸ÛæÁõÛé ¬ÛÈÛÛ þéùÉÛé.  
 

 (xii) ¦éøÁõàÈÛé¤øàÈÛ ïõÁõÛÁõ …é ________ ¶Ûä× ÍÛÛµÛ¶Û ™öé.  
  (a) ¶ÛÛ¨ÛÛ¼Û›ÛÁõ   (b) …Û×©ÛÁõÁõÛÌ¤ÖøàýÛ ¼Û›ÛÁõ  
  (c) þéùÈÛÛ× ¼Û›ÛÁõ   (d) …Û¾ÛÛ×¬Ûà ïõÛé̂  ¶ÛÜÐü  
 

 (xiii) ïõÛéÅÛ …Ûȩ́ ÉÛ¶Û¶Ûà Í¤ÖøÛˆïõ Ýïõ¾Û©Û 13.25 ™öé …¶Ûé ©Ûé¶ÛÛ œ÷ÈÛ¶Û þùÁõ¾ýÛÛ¶Û ©Ûé¶Ûà Í¸ÛÛé¤ø Ýïõ¾Û©Û 
13.50 Ðü©Ûà ©ÛÛé, …Ûȩ́ ÉÛ¶Û  

  (a) ”ÛÁõàþù¶ÛÛÁõ ¾ÛÛ¤éø ˆ¶Û µÛ ¾Û¶Ûà  (b) ÁõÛˆ¤øÁõ ¾ÛÛ¤éø ˆ¶Û µÛ ¾Û¶Ûà  
  (c) ”ÛÁõàþù¶ÛÛÁõ ¾ÛÛ¤éø …ÛŠ¤ø …Ûéºõ ¾Û¶Ûà  (d) ÁõÛˆ¤øÁõ ¾ÛÛ¤éø …é¤ø µÛ ¾Û¶Ûà  
 

 (xiv) ¹ýÛä̃ ÛÁõ ¾ÛÛïëõ¤ø¾ÛÛ×¬Ûà ÍÛÛéþùÛ ïõÁõ¶ÛÛÁõ _______ Áõà©Ûé ¼ÛÐüÛÁõ ¶ÛàïõÇà ÉÛïéõ ™öé.  
  (a) ÜÈÛÂú±ù ïõÁõÛÁõ ïõÁõà¶Ûé  
  (b) ¾Ûä”ýÛ ›Û¾Ûà¶Û•ÛàÁõà¾ÛÛ× ÍÛÛéþùÛé ¸ÛæÁõÛé ïõÁõà¶Ûé  
  (c) (a) …¶Ûé (b) ¼Û×¶Ûé  
  (d) (a) …¬ÛÈÛÛ (b) ¼Û×¶Ûé¾ÛÛ×¬Ûà ïõÛé̂  ¶ÛÜÐü  
 

__________ 
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Instruction : Figures to the right indicate marks of the questions. 

 

 

1. (a) Describe in brief the structure of the Financial Markets. 7 

      OR 

   Outline the characteristics of the Money Market. 

 

 (b) Answer any two in brief : 4 

   (i) What is meant by risk and uncertainty ?  

   (ii) What is the difference between present value and future value ? 

   (iii) What impact does the frequency of compounding has on returns ? 

 

 (c) Answer the following in one or two sentences : 3 

   (i) What is the rule of 72 ? 

   (ii) What is the relationship between risk and reward ? 

   (iii) Name at least six different risks related to financial transactions. 

 

 

2. (a) Explain the market segmentation theory, expectations hypothesis and liquidity 

premium theories of term structure of interest rates. 7 

OR 

  What is a yield curve ? How is the yield to maturity calculated for a bond ? 

 

 (b) Answer any two of the following in brief : 4 

  (i) Differentiate between fixed interest rates and flexible interest rate. 

  (ii) How is equilibrium in the monetary sector established in the  IS-LM     

model ? 

  (iii) How are interest rates decided under loanable fund theory ? 
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 (c) Answer the following in one or two sentences. 3 

  (i) What are administered interest rates ? 

  (ii) A loan is offered by a bank at an interest rate 36 basis point above the base 

rate. What interest rate would the bank charge if the base rates were 8%, 

10% or 13% ? 

  (iii) What are bid and offer rates ? 

 

3. (a) Explain the law of one price. 7 

   OR 

  Explain how the problems of adverse selection and moral hazard arise. 

 

 (b) Answer any two in brief : 4 

  (i) What is the strong form of efficient market hypothesis ? 

  (ii) What is financial arbitrage ? 

  (iii) Explain the market line of capital asset pricing model. 

 

 (c) Answer the following in one or two sentences : 3 

  (i) What is meant by accounting measures of value ? 

  (ii) State the lemon’s problem. 

  (iii) What is meant by triangular arbitrage ?  

 

4. (a) Explain characteristics and pricing of a forward contract. 7 

   OR 

  Describe a futures contract. 

 

 (b) Answer any two in brief : 4 

  (i) Describe the various positions that an options contract can have during its 

life for the buyer of the contract. 

  (ii) What is price discovery ? 

  (iii) Draw the diagram for a two time period binomial tree for the price of an 

options contract where the underlying is a dividend paying share.  

 

 (c) Answer the following in one or two sentences : 3 

  (i) What is strike price ? 

  (ii) What are the costs considered in cost of carry theory of futures pricing ? 

  (iii) What are warrants ? 
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5. Write only the correct option : 14 

 (i) If the maturity period of a bond is seven years, then it will be 

  (a) A long term instrument (b) A short term instrument 

  (c) A very long term instrument (d) Medium term instrument 

 

 (ii) Which of the following is not used in the money market ? 

  (a) Certificate of deposit (b) Bond 

  (c) Treasury bill  (d) Commercial paper 

 

 (iii) Equity share of company A give 10% return with 80% guarantee and those of 

company B give 20% return with 50% guarantee. From safety point of view 

investment should be made in shares of 

  (a) Company B 

  (b) Company A 

  (c) Neither in Company A nor in Company B 

  (d) None of the above 

 

 (iv) Risks in financial transactions are measured 

  (a) Over time  (b) Over space 

  (c) Over instruments  (d) All of the above 

 

 (v) A bank offers 3% interest for one year deposit, 5% for three year deposit and 4% 

for 10 year deposit. The interest rate term structure line would be 

  (a) Parallel to x axis 

  (b) Parallel to y axis 

  (c) Rising over time 

  (d) Rising and then falling over time 

 

 (vi) Which of the following instruments provides information about risk free interest 

rates ? 

  (a) Debentures  (b) Fixed deposits 

  (c) Treasury bills  (d) Certificate of deposits 

 

 (vii) Which of the following explains the term structure of interest rates ? 

  (a) Liquidity preference theory (b) Expectations theory 

  (c) Cost of carry theory (d) Classical theory 

 

 (viii) If the inflation rate in an economy is 10% and the real interest rate is 4%, then the 

nominal interest rate should be 

  (a) 6%   (b) 14% 

  (c) 7%   (d) 10% 
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 (ix) If USD 1 = ` 56 and GBP 1 = USD 2.5, then due to triangular arbitrage 

  (a) GBP 1 = ` 100 

  (b) GBP 1 = ` 156 

  (c) GBP 1 = ` 140 

  (d) GBP 1 = ` 180 

 

 (x) A deep discount bond has a face value of ` 1000.It can be sold in the primary 

market at a price of 

  (a) ` 900 

  (b) ` 1000 

  (c) ` 1100 

  (d) ` 1001 

 

 (xi) A trader in an option’s exchange buys a put option. If it exercises the option, then 

it will 

  (a) Buy the underlying 

  (b) Sell the underlying 

  (c) Not trade in the underlying 

  (d) Will let the option expire 

 

 (xii) A derivative contract is an instrument of 

  (a) Money market 

  (b) International market 

  (c) Debt market 

  (d) None of the above 

 

 (xiii) The strike price of a call option was 13.25 and during its life the spot price was 

13.50, then the option was 

  (a) in the money for the buyer 

  (b) in the money for the writer 

  (c) out of the money for the buyer 

  (d) at the money for the writer 

 

 (xiv) A player can exit the futures market by 

  (a) entering into a reverse contract 

  (b) executing the trade in the underlying 

  (c) both (a) and (b)  

  (d) neither (a) nor (b)  

 

__________ 


